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Show your working clearly in the space provided for each question and write your 
answers in the spaces provided. 
 
   

6. a) ∠z = 128° 
 b) 
 

  
Ans:  (a)   128° 
 (b)    as in figure  

 

 

7. Amount of cooking oil used on Monday = 
1
3
  x 84 = 28ℓ  

 Total cooking oil used = 28 + 20 = 48ℓ 
       
 
 
 
 
 
 
 
 
 
 

Ans: 48ℓ 
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8. a) 
 Number pattern is a repetition of series four numbers 7, 4, 5, 0 
  
 Number of repetitions in 125th number = 125 ÷ 4 = 31 remainder 1 
 
 That means after 31 repetitions of 7,4,5,0, it ends with first number of next series, 
 which is 7.  
 
 b) 
 Sum of 7,4,5,0 = 16 
 Sum of 31 repetitions of series = 31 x 16 = 496 
 Total sum of 125 numbers = 496 + 7 = 503 
 
 
 
 
 
 
 
 

Ans:  (a)   7 
 (b)   503 

 

 
9. a) 
 Number of books loaned out on Wednesday = 32 
 
 b) 
 Number of books loaned out on Thursday = 16 
 Number of books loanded out on Monday = 64 
 
 Difference between Monday and Thursday = 64 – 16 = 48 
 
  
 
 
 
 
 
 

Ans:   (a)  32 

(b)  48 
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10. a) 
 Number of medium sized shirts sold = 85 
 Total number of shirts sold = 30 + 85 + 60 + 75 = 250 

 Fraction of medium sized shirts sold = 85 ÷ 250 = 
17
50

  

  
 b) 
 Total sales of small size shirt = 30 x 12 = $360 
 Total sales of medium size shirt = 13 x 85 = $1105 

Total sales of large size shirt = 14 x 60 = $840 
 Total sales of x-large size shirt = 15 x 75 = $1125 
 
 Shirt size with most sales is X-Large size 
 
 
 
 

Ans: (a)  
17
50

    

 (b)   X-Large size 

 

 
11. Difference between number of pupils in sewing class and pottery class  at the 

end =  146 + 17 + 17 = 180 
 
 Let number of pupils in pottery class = u 
 Let number of pupils in sewing class = 6u 
 
 Difference between number of pupils sewing class and pottery class = 6u – u = 
 5u = 180 
 u = 180 ÷ 5 = 36 
 
 Total number of pupils = u + 6u = 7u = 7 x 36 = 252 
 
 
 

Ans:  252  
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12. Let 
1
40

 kg = u  

 

 Parcel B = 
3
8
  = 

15
40

  = 15u 

 
1
4
 kg  10u 

Mass of Parcel A = 15u + 10U = 25u 
  
1
5
 kg  8u  

 Mass of Parcel C = 25u - 8u = 17u 
 

 Mass of 3 parcels = 15u + 25u + 17u = 57 x 
1
40

 = 1
17
40

 kg 

 

Ans:  1
17
40

 kg 

 
 

 
13. a) 
 Distance between 1st and 19th banner = 85 x 18 = 1530 cm 
 
 b) 
 Number of banners = (4590 ÷ 85) + 1 = 55 

 
 
 
 
 
 
 
 
 
 
 
Ans:  (a)   1530 cm 
 (b)    55 
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14. a) 
 Point Y is South-east of Point A 
 b) 
 i)  2 steps to the West 
 ii) 3 steps to the North 
 
 c)  
 Starting point was Q  
 
 

Ans: (a)  South-east 

 (b)    i) West 

  ii) North 

 (c)  Point Q  

 

 
15.  Difference between number of stamps Susan and Leanne had = 1320 – 220  

= 1100 
 
Let number of stamps Leanne had = u 
Number of stamps Susan had = 5u 
Difference between Susan and Leanne = 5u – u = 4u 
4u = 1100 
u = 1100 ÷ 4 = 275  
 
Total stamps Leanne and Susan had at the end = u + 5u = 6u = 6 x 275 
= 1650 
Number of stamps that Ronald gave = 1650 – 220 – 1320 = 110  
 
Number of stamps Ronald had left = 599 – 110 = 489 
 
 
 
 
 

Ans:  489 stamps 
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16. a) 

 Number of meatballs 
1
2
  of pupils took = 36 x 

1
2
  x 5 = 90 

 Number of meatballs 
1
6
  of pupils took = 36 x 

1
6
 x 2 = 12 

 
 Number of remaining meatballs = 150 – 90 – 12 = 48 
 
 b) 

 Number of remaining pupils = 36 - 36 x 
1
2
  - 36 x 

1
6
  = 12 

 Number of meatballs remaining pupils took = 48 ÷ 12 = 4 
 

Ans:  (a)  48 
 (b)  4 
 

 

 
17. a) 

Let cost of each pen = u 
 Cost of ruler = u – 0.65 
  
 Total cost of 5 pens and a ruler = 5u + u – 0.65 = 8.35 
 6u = 9 
 Cost of pen = u = 9 ÷ 6 = $1.50 
 
 b) 
 Cost of ruler = 1.50 – 0.65 = $0.85 
 Total cost of 8 pens and 2 rulers = 8 x 1.50 + 2 x 0.85 = $13.70 
 
 Additional money needed = 13.70 – 10 = $3.70  
 
  

 Ans:  (a)  $1.50 
  (b)  $3.70 
 

 

 
























